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QEUEETY Reinforcement ANSWER
s:!c;ofs Missing Terms KEY
1. Write the equation you would use to find each missing term.
a) 172 + M = 283 b) M - 261 =472 c) 419 -l =212
283-172=H 472 + 261 = 419-212=1
d) 331 + =452 e)7 x M =28 f) 218 + M =311
452 -331= 28:7=H0 311-218=H

2. Match each number to the corresponding equation.

M lculati
a) Q 287 + 321 — 608 Yy caicuiations
5, 6,
808 570 538
-287 118 -211
b) @ 452 |+ 118 = 570 341 52 27
1
36+4=9 43 73
a2 211
c) @ 538 —| 327 |[=211 171 262
d) Q 9 |x4=36
e) @ 472 +| 171 |=643
f) @ 473 | 262 |=211
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3. Find the missing terms.

My calculations
a)345+| 836 |[=1181
7, 79, 1
1181 86 498 63 10x10=/10
b) 800-| 432 | =368 ~ 345 =368 — 78 + 76
836 432 420 239
c)| 420 |[+78=498
d)| 239 |-76=163
e)| 100 [+10=10
4. Solve the problems.
M Iculati
a) Libby went mushroom picking. y catetiation
She used 239 of her mushrooms 1
to make a potion. Now she has 239
106 mushrooms left. How many +106
mushrooms did she pick? 345
Libby picked| 345 |mushrooms.

My calculation
b) Sylvester prepared 560 flasks of
laughing potion. If he has 209 flasks 5,
left, how many flasks of laughing potion
has he used? =20
o ¥ =4
DJ
Sylvester has used | 351 |flasks of
laughing potion.
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